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1) ROFHEZELESL, (2R X10%)

1) (x+y)(x+y—5) 2) (6x+y)(2x—y)

1 1 1 1
3) (3x — oy ) x + 3y ) 4) (7a+b+4c)(a—2b—c)

5) (a—0. 5b)(3a+0. 2b) 6) 8x(x—y)+4x(x+2y)

7) %a(2a—4b)+%a(9b+6a) 8) (1.5a+2b)(1. 1a—9b)

9) (9x2y+6xy2)+3xy 10) 3x(x—2y)—4x(x+y)



NTHERADER(BFRREIFH
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2) ROFEZELGED, (2R X108

1) (5a’b—20ab’—15ab)+(—5ab)  2) (4x—y)(3x+2y)

3) 1. 3a(a—5b)—1. 8a(2a—3b) 4) (3a—2b—1)(6b—5a+2)

5) (zx+2y)(x—3y) 6) (2a+3b)(2a—8b+3)

7) (6x+5y+9)(8x—7y) 8) 6p(p+3a)—5a(p—2aq)

3 1 4 1
9) ( -a + zb )( @ — Zb ) 10) (2x+3y)(x—y+4)
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3) ROEHEZELGED, (2R X108

1) 2x(9x—6y)+2y(8y—10x) 2) (x—5y)(2x+3y)

3) 2x(0. 8x+0. 3y)—6x(0. 4x—0.5y) 4) (7m—n)(3n—4m)

5) (8a'b —4a’b )+(—2a’b’)  6) (1.1x+1.3y+2. 1)(2x—3y)

1

EE

a — gb )( %a — gb ) 8) (9p+a)(3p—2q+1)

9) (3c+11d)(4c—12d) 10) 6p(p+3a)—5a(p—2q)



NTHERADER(BFRREIFH
3F—4A—4:E—KIg A =]
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4) ROFEZELGE, (2R X108

1) a(2a+b)—3a(2a—b) 2) (2x—3y)(4x+5y)

3) (1.9x—1. 4y)(2x+3y—5) 4) (4a—7b—2)(a+8b+1)

5) %x(12x+8y)—%y(15x—6y) 6) (5x+y)(5x+3y—2)

7) ( ga +b)za—b) 8) (p+0. 7a)(p—1. 5q)

9) —(3x2y—6xy—12xy2)+(—3xy) 10) 7a(3a—4b)—6a(2a+5b)
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5) ROFEZELLGEL, (2R X108

1) (1. 4x+3y)(1. 6x—9y) 2) Gx—2y)Cx+gy)

3) 0.5x(3x+2y)—0. 7y(4y—3x) 4) (8a—3b)(5a+4b)

5) (7x—3y)(4x+2y—9) 6) (3a+b+c)(2a—b+4c)

7) (21a’b°—14ab+42a°b>)+7ab  8) (13x+5y)(0. 7x+0. 3y—0. 4)

9) —%a(20a+15b)+;b<21a—14b) 10) (9¢c+2d)(4c+5d)
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1) BE—MR% (25 x108) A =]

1) x2+2xy—5x—5y+y2 2) 12x2—4xy—y2 3) 1—x2+lxy—ly2
12 24 4
2 2 2
4) 7a —2b +4c —13ab—9bc—3ac
5) 3a°—1.3ab—0.1b° 6) 12x° 7) 3a +ab
2 2 2
8) 1.65a —11.3ab—18b 9) 3x+2y 10) —x —10xy

2) KRE—M@E (2R X108 A B

1) —a+4b+3 2) 12x°+5xy—2y- 3) —2.3a —1. 1ab
4)—15a°—12b°+28ab+11a—10b—2 5) ;—Oxz—%xy—Gyz

2 2 2 2
6) 4a —10ab+6a+9b—24b 7) 48x —2xy+72x—63y—35y

8) 6p2+13pq+10q2 9) 2a2+%ab—11—2b2 10) 2x2+xy+8x+12y—3y2

3) KE—M@E (2R X108 A B

1) 3x2—7xy+4y2 2) 2x2—7xy—15y2 3) —0. 8x2+3. 6xy
4) —28m°+25mn—3n° 5) —4a+2b

6) 2.2x°—0. 7xy+4. 2x—6. 3y—3. 9y"

3 2 13 15,2
7) ﬁa +Eab+7b

8) 27p°—15pq+9p+aq—2q° 9) 12¢°+8cd—132d"

10) 6p2+13pq+10q2



NTHERADER(BFRREIFH
3F—-4R—-48

4) KE—RE (2Rx10%#) A B

1) —4a2+4ab 2) 8x2—2xy—15y2 3) 3. 8x2+2. 9xy—9. 5x+7y—4. 2y2
2 2 2 2

4) 4a +25ab—56b +2a—23b—2 5) 3x —3xy+2y

6) 25x2+20xy+3y2—10x—2y 7 %az—%ab—b2
2 2

8) p —0.8pg—1.05q 9) x—4y—2

10) 9a°—58ab

5) &E—ME (2R X108 A B

2 2 1 2 27 2 2
1) 2.24x —7.8xy—27y 2) X “aoXY 5V

3) 1.5x°+3. 1xy—2. 8y 4) 40a-+17ab—12b

2 2 2 2 2
5) 28x +2xy—63x+27y—6y 6) 6a —ab+14ac+3bc—b +4c
7) 6a+3b—2 8) 9. 1x2+7. 4xy—5, 2x—2y+1. 5y2

9) —4a°—2b°  10) 36c +53cd+10d



